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OO0 $n$ 0 $p$ 0000 $x$ 000 $x™2\equiv n\pmod{p}$
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P5491 000D ODOO

#include<bits/stdc++.h>

using namespace std;

typedef long long 11;

int t;

1l n,p;

11 w;

struct num
1l x,y;

num mul(num a,num b,1ll p
num ans={0,0};
ans.x=((a.x*b.x%p+a.y*b.y%sp*wSsp)%sp+p)%p;
ans.y=((a.x*b.y%p+a.y*b.x%p)%p+p)%p;

ans;

1l binpow real(ll a,ll b,ll p) (/00000
11 ans=1;
b
b&1) ans=ans*a%p;
a=a*a%p;
b>>=1;

ans;

1l binpow imag(num a,ll b,ll p){/00 0000
num ans={1,0};
b
b&1) ans=mul(ans,a,p);
a=mul(a,a,p);
b>>=1;

ans.x%p;

1l cipolla(ll n,1l p
N%=p ;
== n;
binpow real(n, (p-1)/2,p)==p- -4
1l a;

a=rand( )%p;
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w=((a*a%p-n)%sp+p)%p;
binpow real(w, (p-1)/2,p)==p- ;
num x={a,l};
binpow imag(x, (p+1)/2,p);
int main
srand(time ;
scanf("%sd",&t) ;
t--
scanf("%lld %lld",&n,&p) ;
In
printf("0\n"); ;
1l ansl=cipollaln,p),ans2;
ansl==- printf("Hola!\n");
ans2=p-ansl;
ansl>ans2) swap(ansl,ans2);
ansl==ans2) printf("sLlld\n",ansl);
printf("slld %lLld\n",ansl,ans2);
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